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On a walk, collect sixteen number plates. BG63 KYT BF5I TAU ‘© /@

Find someone to play against.

Each player chooses a number plate from the list collected and create two numbers with one
decimal place each.

Using the number plates above, you could make 6.3 and 3.6, 5.1 and 1.5.

Each player then finds the difference between the smallest and largest numbers: 5.1 - 1.5 =
3.6 and 6.3 -3.6 =2.7. This means that 3.6 wins as it is the biggest difference and gets 1

point. If the answers are both the same in a round then 0.5 of a pointis added. L983 WCH
The player with the most points after ten rounds is the winner.

Play the game again and use registration plates with three digits and use the digits = Mb6l7 YMC
to make numbers with two decimal places. For example, 9.83 and 3.89, and 6.17
and 7.16.

When you are subtracting decimals to find the biggest difference you might need Y 5
to use place value to regroup to tenths into ones

Source: Herts for Learning
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Envelopes

Use a variety of envelopes that come through your letterbox.

wr\\‘l“’e

Estimate both the area and perimeter of each envelope to the nearest centimetre by writing

on the back. Measure them accurately using a ruler or draw 1cm squares to see how close
your estimate was to the actual perimeter and area.

Put two envelopes together without overlapping them to make a rectilinear shape. Estimate
the perimeter of the shape and then measure it to find the actual perimeter.

Rearrange the envelopes to make the largest and smallest perimeter. Will the area of each
combined (compound or composite) shape that you have made the same of different? Why?

Perimeter - the distance around the outside of a 2D shape.

Area - the space the envelope(s) cover which here can be measured in square
mm/cm () Y 5

Source: Herts for Learning
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Dicey Addition

You will need a partner to play this game with.

Each player rolls a dice six times and uses the numbers rolled as digits to make
two, 3 digit numbers. The aim is to get closer to a sum of 1000 than the other
player. The player with the closest sum wins a point.

With six dice, what are the lowest highest totals you can make by adding two, 3
digit numbers?

Now roll the dice eight times and create two, 4 digit numbers. S
How close to 10,000 can you get?

Repeat the process to get as close as you can. With eight dice, what are the
lowest and highest totals that you can make by adding two 4 digit numbers?

Remember to use the most efficient method when you are adding.

564 added to 321 could be added mentally and would not need the column
method.

Source: Herts for Learning
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Find a partner for the game. Take it in turns to roll a dice twice. Then fill in the missing boxes in
the calculations below with the number rolled.

600 |-599 |= B e
This could become 6004 — 5995 = RS e

Count on from the smaller number to the higher number.

For the example above, this might be:

« 5996, 5997, 5998, 56999, 6000, 6001, 6002, 6003, 6004

« or add 5 to get from 5995 to 6000 and then 4 more to get 6004
« or add 5 to each number to keep the difference equal to make the calculation 6009-6000
The difference between 6004 and 5995 is 9 so score 9 points.

Keep a running score of the amounts that you have counted on.
The first person to reach 50 wins.

Source: Herts for Learning
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Make a 100 square like this and then find someone to play against.

Take it in turns to choose a number and roll the dice.

If your 2-digit number divides exactly by the number on the dice then
you win a point.

For example, if your chosen number was 21 and the number on the dice
was 3 hen you would get a point because 21 divides by 3 exactly 7
times.

Cross off any numbers used as you go because they ae now out of the
game.
The first player to ten points wins.

Look at numbers used in the game. Which numbers would only divide
exactly by one and themselves? (prime numbers)

Play again but this time keep a running total of remainders. The winner
now being the first to get to 50.

Source: Herts for Learning
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Use the television listings from a newspaper, magazine, tv planner or internet and create a
timetable of your favourite programmes to watch during the seven days in the week.
Show the times of the programmes in different formats.

1 | 90 mins
Example 4.00pm- 16.00- 17.30 Merlin
5.30pm 1 hr 30 min

Monday

Tuesday ‘

Wednesday i [ l

Remember to work in multiples of sixty when calculating the duration of events. Y 5

Source: Herts for Learning
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Prepare several circles by drawing around a plate or something circular.

Use a ruler or a straight edge to draw the dots in the positions shown on the diagram below
How many different quadrilaterals can be made, including the same quadrilateral in a different
position by joining the dots on the circle?

Name each quadrilateral and write two facts about each one.

Estimate the angles of all your quadrilaterals and measure to check if you have a protractor.
Could you do the same activity drawing triangles inside the dotty circles or other polygons.

Quadbrilaterals — 2D shapes with four straight sides (see examples above). Y 5
Polygons — 2D shaps with at least three straight sides (and no curved sides).

Source: Herts for Learning
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Choose ten odd house numbers and ten even house numbers in your street or use the doors
above. Play with a partner.

One person chooses on odd and one even number, multiplies them together and crosses them
out. Check with each other and score a point if the answer is correct. After they have all been
used, change the door start number and rewrite the others. Make sure that the door numbers
are two-digit and below 100. Play the game again and keep a running total of the score.

Remember to use the most efficient method. If, for example, you were multiplying Y 5
50 x 51 you could do it mentally and not use a column method.

Source: Herts for Learning
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Amazing Angles

Look both inside and outside of your homes. How
many different angles can you identify? \ 104° .

90 S0

Identify obtuse, acute, reflex, right angles, angles in \ ﬁ\
146 g

a straight line, at different points and in turns up to
3600.

Create drawings and label them showing as many
elements of the above as you can. You could use a
protractor to both measure and create angles or
estimate.

Acute angles - less than 90°

Right angles — 90° exactly

Obtuse angles — greater than 90° but less than 180°
Straight lines — 180° exactly

Reflex angles — greater than 180°

A full turn around a point - 360°

Source: Herts for Learning
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Collect different cups, glasses, containers and bottles. Most bottles have their capacity (how
much they will hold) written on them. For example, 1 litre, 750ml, 500ml, 250ml etc.

Have a look to identify the capacity of each bottle. Select a small cup or container. Estimate
how many different cups or containers you would have to use to fill a range of bottles. How
close was your estimate to the actual amount?

Use what you know to find the capacity of each container. For example, if it took about four
cups to fill a 1litre bottle then the cup hold about 250ml.

Estimate and try out how many different size bottles/containers it would take to
fill a bowl, a kettle, a bucket or a bath.

Source: Herts for Learning



